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Shannon Cipher  with Stochastic Source and Small Error .
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Design : Block length n
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Goal : Reliability : P[ xntxn ] small
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General
Setting for Channel

Coding
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Channel
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( Note thatwe are not
saying

Pyyxn =P Pxx for
memory

less channel ingenenl)

For a channel what feedback :
Memaylessness *Pyyxn t.IMRyx

,

Let M be uniformly distributed

Defn : R is  achievable if the >o
,

Fn
, fy at rate R such that P[ Mai ]< e

Defn ( Capacity ) : Let the capacity C be the suprmum of  achievable rates R
.

Theorem :
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Example 2 :

Noisy Typewriter :

1- bit
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Example
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Jinay Symmetric channel
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Example 4 : Binary Erasure Channel
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